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<html> <A—=XY X K>
<dA—ZX>
<body> <RES

<table border=1>
<tr><td> BBEI— X <td> {BEE <td> <tr>

<tr> <td> A0 — X <«td> 1500 <td> <tr>
<tr> <td> 13— X «td> 2500 <td> <tr>
<trs> <td> #80— X <td> 3500 <td> <tr>
<tr> <td> HI{AH <td> LEED20%5] =
</td> </tr>

</table>

<BR>

<table border=1>

<tr> <td> T X730 —R<td>  {BEE <td> <tr>
<ir> <td> SHERI I — X<td> 3000M <td> <tr>
<tr> <td> #=H#E 3 — X <td> 10000M <td> <tr>
<tr> <td> = A ) 3~ R<«td> 20000M

</td> </tr>

</table>

</body>

</html>

<EHO>WMO— X </ZBH>
<{HE%>1500< MBEE >
</BE>

<BE>
<EBMHOMO-ZX</2H>
<{BEE>2500< MEEY >
<JBRE>

<BE>
<EBH>EI— X </ZH>
<{EF% >3500< MEER >
</IBE>

<EBE>
<EH#>HEE </ >

<{EE&> _EECD20%5| & </fEEE>

</BE>

<Jd=Z>

<a-2Z2>

<IZXF>
<EBH>EBEANI—X</BIF>
<{BEE&>3000< MBEE% >
<JIZF>

<IRXATF>

< BIR>IBHE D — 2 </BF>
<{BE%>10000< MBEEE >
<JTZAF>

<IZXF>

<EBH>ZAY I—X</BI>
<{BEZ>20000</MBEEE>
<JIZAF>

</aA—Z>
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